R7FE SFARLRERR

£10E

2R1H
AM

ENE

2%

4%

REE-REEAL -1

PBL

GLOBAL

2%

47

ER-HEEEAL -30)

PBL

£2[0

2R1H
PM

ZNE

28 (EEE - B

4

2R (EE-#HR)

2R (FE-1EM)

R4 1-

7 Vb Uy

GLOBAL

2R (EEE - B

2R (EEE - #R)

28 (FE-ERD

HEE(OHE 1-

A E,

F3ME

2RH2H
AM

EN

2%

2

47

REE - REEAL -1

GLOBAL

28

4%

RER-RWEEAL 107

HIOIN[O|O|W[OIN|O[=[DIN[OIN|N[O]|=|W[O|=|N[O]|O |~

R R RRRRRRRRRRRRRRRRRRRRR

WP AR T PR

R7E1R14H #x

s . | 2% 40
S = v 0
2RA2H 2%l 2
PM | GLOBAL e it == 2
2% 30

gom | A0 AR 1
E et Y ) O

2H3H 2% @)
AM " GLoBAL 4R 0
DEEE-EEAL 1) 3

Jem | AR 2RH(EFE- B 42
AM GLOBAL | 2%8HEZE - B2 o)
JETEL AR 28 (EEE -85 o)
AM GLOBAL | 2%RHEZE - B2 O

XEBTEIE2 B5H &Y HFRRRA

R R R R R R R RRRRR R



